Dr. Mangesh

MBBS, MD.

Satyar

Super Speciality Hospital

Your Trust, Our Service.

OPD Prescription

UHID No.

: 3598

Patient Name : Neha Kumari

Address

: Sikandarpur, Muz.

B.P.

Pulse:

OPD No.

: 2093

Date

: 28/06/2025

Age / Sex

: 06 days/ F

Temp:

Weight

Attn: Mother Concern

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 3598

OPD NO. 2093

DATE:- 28/06/2025

PROFORMA INVOICE/FUND REQUISITION REPORT

Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)

Opp. Satyam Paramedical College And Research

Maripur, Muzaffarpur, - 842001, Bihar

Patient Name:	Neha Kumari		
Sex:	Female		
Mother's Name:	Shruti Kumari		
Address:	Sikandarpur, Muzaffarpur.		
Diagnosis:	Patient has distressed gut loops. It's an intestinal		
	Malfunction with an Abnormality that can happen		
	early in pregnancy.		
Date of Admission:	28 th /June/2025		

Overall Analysis: - Neha Kumari, was brought to the hospital in the morning hours of 28th June 2025 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from distressed gut loops. It's an intestinal malfunction with an abnormality that can happen early in pregnancy. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required. The patient comes from a financially weaker section, Kid's father is a Auto Driver and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,18,160/- For almost 14 days of treatment.

Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

S.No.	Element	Unit	Rate (INR)	Price (INR)
1	NICU	14	3500.00	49000.00
2	Nursing	14	800.00	11200.00
3	Visit	14	1000.00	14000.00
4	Procedure	1	5000.00	5000.00
5	Medicine	14	590.00	8260.00
6	RBS	14	100.00	1400.00
7	Oxygen	248	100.00	24800.00
8	Warmer	9	500.00	4500.00
				1,18,160.00

Study Off

भवा में, भदर केसन

महावाय, नम् विनेशन है भी मेरी बेरी जेहा कुमारी ध्ये भी अओ मात्र ०६ दीन की ही है, धो की बहुत ही जोजीर बीमारी की जुझ रही है। जो की असका अन्माजात है। डॉम्स्ट्र का कहना है, नी अमने अगत में बहुत ही ज्यादा इंफिल्मा अरा है; जो की बहुत ही धातक है, मार्थ ही और भी समस्या है। डॉक्टर् का कहना है की असका अलाज जल्द क्षेत्र जल्द गुरु कर्ता होगा मही तो इसका क्यांना मुस्किल है। होत् 1,18,160/- रूपम की खर्च आएमी और लगाभग ।4 दीन तर् का समय लगेगा । इतना वरा अम मेरे लिए बहुत ही बारी रमम है. भेरे पार टेम्पु पालते हें और भें अपने व्यार का देखनाल करते हैं।

बिनती है भी मेरी आश्रीन एवं देशिया दियाती की देखते हुए मेरी आश्रीन मदद करी का ह्या कहर की असने लिए भी औमान का सदा

And how

भाषमा निश्वसी

